	on County Public Sch	ools												
	: Calculators & Accessories													
Event ID: JO Approval Da	CPS-8460 ate: June 24, 2025													
	eceived: May 22, 2025 riod: June 24, 2025 through June 10	, 2026												
	No renewal options Award Status indicates an award													
							1							
Item					No			Manufacturer /	Manufacturer Part					
Number 001	Item/Service Calculator, elementary, 8 digit	Description Texas Instruments TI-108. NO SUBSTITUTE.	1518083-2014336	Vendor Name OFFICE DEPOT	Bid No	1 Each	Quantity 200	Provider	Number	\$0.0000	\$0.0000	Vendor Response Item Notes	Award Status	Award Notes
001	display.	(5.65)	1510005 2014550	omer beron	Bid	Purchase	255			φο.σσσσ	ÇOLGGGG			
001	Calculator, elementary, 8 digit display.	Texas Instruments TI-108. NO SUBSTITUTE.	1518083-2014336	ERIC ARMIN INC.		1 Each Purchase	200	Texas Instruments / EAI Education	70001	\$4.1200	\$824.0000	Credit Card payment is not accepted on all Texas Instruments products. Please reference bid #8460 on all purchase orders to obtain bid pricing.	Awarded	
001	Calculator, elementary, 8 digit display.	Texas Instruments TI-108. NO SUBSTITUTE.	1518083-2014336	El Dorado Trading Group, Inc.		1 Each Purchase	200	Texas Instruments	TI-108	\$4.2900	\$858.0000			
002	Calculator, graphing.	Texas Instruments TI-84 Plus "CE". NO SUBSTITUTE.	1518083-2000772	OFFICE DEPOT		1 Each Purchase	200	TEXAS INSTRUMENTS INC.	84 PLUS CE	\$115.8800	\$23,176.0000	Sku# 145872	Awarded	
002	Calculator, graphing.	Texas Instruments TI-84 Plus "CE". NO SUBSTITUTE.	1518083-2000772	ERIC ARMIN INC.		1 Each Purchase	200	Texas Instruments / EAI Education	561082	\$121.7000	\$24,340.0000	Credit Card payment is not accepted on all Texas Instruments products. Please reference bid #8460 on all purchase orders to obtain bid pricing.		
002	Calculator, graphing.	Texas Instruments TI-84 Plus "CE". NO SUBSTITUTE.	1518083-2000772	El Dorado Trading Group, Inc.		1 Each Purchase	200	Texas Instruments	TI-84Plus CE	\$122.5000	\$24,500.0000			
003	Calculator, graphing.	Texas Instruments TI-Nspire CX Handheld. Combination/Bundle that includes a single license for the TI-Nspire computer software - Teacher Edition. NO SUBSTITUTE.	1518083-2010677	OFFICE DEPOT		1 Each Purchase	100	TEXAS INSTRUMENTS INC.	NSCX2/TBL/1L1	\$128.9800	\$12,898.0000	Sku# 7276012	Awarded	
003	Calculator, graphing.	Texas Instruments TI-Nspire CX Handheld. Combination/Bundle that includes a single license for the TI-Nspire computer software - Teacher Edition. NO SUBSTITUTE.		El Dorado Trading Group, Inc.		1 Each Purchase	100	Texas Instruments	TI-Nspire CX II	\$129.7300	\$12,973.0000	Ti no longer bundles the Ti-Nspire CX II with emulation software. This quote is for the Ti-Nspire CX II Calculator ONLY		
003	Calculator, graphing.	Texas Instruments TI-Nspire CX Handheld. Combination/Bundle that includes a single license for the TI-Nspire computer software - Teacher Edition. NO SUBSTITUTE.	1518083-2010677	ERIC ARMIN INC.		1 Each Purchase	100	Texas Instruments / EAI Education	561762	\$193.4700	\$19,347.0000	Credit Card payment is not accepted on all Texas Instruments products. Please reference bid #8460 on all purchase orders to obtain bid pricing.		
004	Calculator, includes 10 graphing calculators (EZ-Spot Yellow)	with rechargeable battery, TI-84 Plus CE charging station (for 10 calculators). Teacher Pack TI-84 Plus CE Edition. NO SUBSTITUTE.	1518083-2009176	OFFICE DEPOT	No Bid	1 Each Purchase	50			\$0.0000	\$0.0000			
004	Calculator, includes 10 graphing calculators (EZ-Spot Yellow)	with rechargeable battery, TI-84 Plus CE charging station (for 10 calculators). Teacher Pack TI-84 Plus CE Edition. NO SUBSTITUTE.	1518083-2009176	ERIC ARMIN INC.		1 Each Purchase	50	Texas Instruments / EAI Education	561083	\$1,275.3000	\$63,765.0000	Credit Card payment is not accepted on all Texas Instruments products. Please reference bid #8460 on all purchase orders to obtain bid pricing.	Awarded	
004	Calculator, includes 10 graphing calculators (EZ-Spot Yellow)	with rechargeable battery, Ti-84 Plus CE charging station (for 10 calculators). Teacher Pack Ti-84 Plus CE Edition. NO SUBSTITUTE.	1518083-2009176	El Dorado Trading Group, Inc.		1 Each Purchase	50	Texas Instruments	TI-84 Plus CE Teacher Pack w/Station	\$1,285.0000	\$64,250.0000			
005	Calculator-based Ranger (CBR).	Texas Instruments. NO SUBSTITUTE.	1518083-1728100	OFFICE DEPOT	No Bid	1 Each Purchase	25			\$0.0000	\$0.0000			
005	Calculator-based Ranger (CBR).	Texas Instruments. NO SUBSTITUTE.	1518083-1728100	ERIC ARMIN INC.		1 Each Purchase	25	Texas Instruments / EAI Education	76106	\$89.7000	\$2,242.5000	Credit Card payment is not accepted on all Texas Instruments products. Please reference bid #8460 on all purchase orders to obtain bid pricing.	Awarded	

005	Calculator-based Ranger (CBR).	Texas Instruments. NO SUBSTITUTE.	1518083-1728100	El Dorado Trading Group, Inc.		1 Each Purchase	25	Texas Instruments	TI-CRBII	\$91.5000	\$2,287.5000			
006	Software: TI-Nspire and TI-Nspire CAS Teacher Software. NO SUBSTITUTE.	Includes emulator, Question App and the Content workspace for teachers to access and manage their	1518083-2011898	OFFICE DEPOT	No Bid	1 Each Purchase	30			\$0.0000	\$0.0000			
		lessons, activities and other digital content. Single,												
		perpetual license. Includes TI-Nspire Teacher Software												
		and TI-Nspire CAS Teacher Software.	4540000 0044000						TI 011	440.000	4570.0000			
006	Software: TI-Nspire and TI-Nspire CAS Teacher Software. NO SUBSTITUTE.	Includes emulator, Question App and the Content workspace for teachers to access and manage their	1518083-2011898	El Dorado Trading Group, Inc.		1 Each Purchase	30	Texas Instruments	TI-SW- Nspire/Teacher/Multi	\$19.0000	\$570.0000	TI no longer offers perpetual licenses.  They offer 1 Year subscriptions. This		
	reaction software. No sobstitute.	lessons, activities and other digital content. Single,		огоар, п.с.		i di ciidac			/1yr			quote is for a 1-year license. Minimium	Awarded	
		perpetual license. Includes TI-Nspire Teacher Software										order is 5 licenses		
		and TI-Nspire CAS Teacher Software.												
006	Software: TI-Nspire and TI-Nspire CAS Teacher Software. NO SUBSTITUTE.	Includes emulator, Question App and the Content workspace for teachers to access and manage their	1518083-2011898	ERIC ARMIN INC.		1 Each Purchase	30	Texas Instruments / EAI Education	565828	\$28.7500	\$862.5000	Credit Card payment is not accepted on all Texas Instruments products. Please		
	reactier software. NO SOBSTITUTE.	lessons, activities and other digital content. Single,				Fulcilase		LAI LUUCALIOII				reference bid #8460 on all purchase		
		perpetual license. Includes TI-Nspire Teacher Software										orders to obtain bid pricing.		
		and TI-Nspire CAS Teacher Software.								4				
007	Software, TI SmartView Emulator	for TI-84 Plus Graphing Calculator. NO SUBSTITUTE.	1518083-2011582	OFFICE DEPOT	No Bid	1 Each Purchase	50			\$0.0000	\$0.0000			
					Dia	i di ciiasc								
		6 7 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8							T 011 0 1 10 10 10 10 10 10 10 10 10 10 1	444.0500	47.7.5000			
007	Software, TI SmartView Emulator	for TI-84 Plus Graphing Calculator. NO SUBSTITUTE.	1518083-2011582	El Dorado Trading Group, Inc.		1 Each Purchase	50	Texas Instruments	Ti-SW-Smartview/CE	\$14.9500	\$747.5000	One-year subscription license. Minimum order is 5 licenses.		
													Awarded	
007	Software, TI SmartView Emulator	for TI-84 Plus Graphing Calculator. NO SUBSTITUTE.	1518083-2011592	ERIC ARMIN INC.		1 Each	50	Texas Instruments /	565822	\$25.2000	\$1,260.0000	Credit Card payment is not accepted on		
007	Software, ITSINGTEVIEW EMULATOR	101 11 04 1 lus Graphing Calculator. NO 308311101E.	1310003 2011302	Ellic Alliville live.		Purchase	30	EAI Education	303022	\$23.2000	\$1,200.0000	all Texas Instruments products. Please		
												reference bid #8460 on all purchase		
												orders to obtain bid pricing.		
008	System, TI-Nspire CX Navigator	Supports 30 students and includes Teacher PC	1518083-2009177	OFFICE DEPOT	No	1 Each	10			\$0.0000	\$0.0000			
000	System.	Software. Contains Access Point. NO SUBSTITUTE.	1310003 2003177	011102 021 01	Bid	Purchase	10			\$0.0000	\$0.0000			
008	System, TI-Nspire CX Navigator	Supports 30 students and includes Teacher PC	1518083-2009177	ERIC ARMIN INC.		1 Each	10	Texas Instruments /	560418	\$1,944.1000	\$19,441.0000	Credit Card payment is not accepted on		
	System.	Software. Contains Access Point. NO SUBSTITUTE.				Purchase		EAI Education				all Texas Instruments products. Please		
												reference bid #8460 on all purchase	Awarded	
												orders to obtain bid pricing.		
008	System, TI-Nspire CX Navigator	Supports 30 students and includes Teacher PC	1518083-2009177	El Dorado Trading		1 Each	10	Texas Instruments	TI-Nspire	\$1,946.0000	\$19,460.0000			
	System.	Software. Contains Access Point. NO SUBSTITUTE.		Group, Inc.		Purchase			Navigator/30					
009	Calculator, Graphing, replaceable	Texas Instruments #84PL-TPK/1L1 TI-84. NO	1518083-2013970	OFFICE DEPOT	No	1 Each	100			\$0.0000	\$0.0000			
	batteries, Teacher Pack, includes 10 calculators.	SUBSTITUTE.			Bid	Purchase								
	curcuistors.													
009	Calculator, Graphing, replaceable batteries, Teacher Pack, includes 10	Texas Instruments #84PL-TPK/1L1 TI-84. NO SUBSTITUTE.	1518083-2013970			1 Each Purchase	100	Texas Instruments	TI-84Plus	\$102.7900	\$10,279.0000			
	calculators.	3083111012.		Group, Inc.		Fulcilase								
			4540000 0040000						20050	44 040 0500	4.0. 005 0000	Credit Card payment is not accepted on		
009	Calculator, Graphing, replaceable batteries, Teacher Pack, includes 10	Texas Instruments #84PL-TPK/1L1 TI-84. NO SUBSTITUTE.	1518083-2013970	ERIC ARMIN INC.		1 Each Purchase	100	Texas Instruments / EAI Education	70852	\$1,019.3500	\$101,935.0000	all Texas Instruments products. Please		Awarded based on total cost per kit as requested.
	calculators.											reference bid #8460 on all purchase	Awarded	,
1												orders to obtain bid pricing.		
010	Calculator, Graphing. Teacher Pack.	Texas, Instruments TI-Nspire CX II. NO SUBSTITUTE.	1518083-2014650	OFFICE DEPOT	No	1 Each	20			\$0.0000	\$0.0000			
310	and a second of a	, maramena ir rapite ex ii. no sobstitute.	2320003 2014030	OTTICE DELIGIT	Bid	Purchase	20			\$0.0000	Ç0.3000			
010	Calculator, Graphing. Teacher Pack.	Texas, Instruments TI-Nspire CX II. NO SUBSTITUTE.	1518083-2014650	El Dorado Trading		1 Each	20	Texas Instruments	TI-Nspire CX II	\$129.7800	\$2,595.6000			
				Group, Inc.		Purchase								
010	Calculator, Graphing. Teacher Pack.	Texas, Instruments TI-Nspire CX II. NO SUBSTITUTE.	1518083-2014650	ERIC ARMIN INC.		1 Each	20	Texas Instruments /	561763	\$1,398.8000	\$27,976.0000	Credit Card payment is not accepted on		Awarded based on total cost per kit as
						Purchase		EAI Education				all Texas Instruments products. Please		requested.
												reference bid #8460 on all purchase orders to obtain bid pricing.	Awarded	
												orders to obtain bid pricing.		
011	Calculator, Scientific,	Texas Instruments TI-34. NO SUBSTITUTE.	1518083-2015120	OFFICE DEPOT		1 Each	100	TEXAS INSTRUMENTS	34II/FBL/1L1/A	\$15.9800	\$1,598.0000	Sku# 372311		
						Purchase		INC.						
1													Awarded	

011	Calculator, Scientific,	Texas Instruments TI-34. NO SUBSTITUTE.	1518083-2015120	ERIC ARMIN INC.	1 Each Purchase	100	Texas Instruments / EAI Education	534374	\$17.1500	\$1,715.0000	Credit Card payment is not accepted on all Texas Instruments products. Please reference bid #8460 on all purchase orders to obtain bid pricing.	
011	Calculator, Scientific,	Texas Instruments TI-34. NO SUBSTITUTE.	1518083-2015120	El Dorado Trading Group, Inc.	1 Each Purchase	100	Texas Instruments	TI-34 Multiview	\$17.3100	\$1,731.0000		

Jefferson County Public Schools		
Award Summary		
Event Name: Calculators & Accessories		
Event ID: JCPS-8460		
Approval Date: June 24, 2025		
Vendor	Bid Total	Award Total
El Dorado Trading Group, Inc.	\$140,251.6000	\$1,317.5000
ERIC ARMIN INC.	\$263,708.0000	\$86,272.5000
OFFICE DEPOT	\$37,672.0000	\$37,672.0000